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A dReIBHEG 2
M dxtel #EE
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PN D R=g= g, 9,436,476 6,230,724 3,205,752
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Al 3,702,649
- 2,871,689
2itel EE 6,904,079 5,974,177 929,902
= 1,545,138
Al 3,040,849
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1.eXeldsE o 6,020 2,400 3,620
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= 15,000
Al 7,500
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= 15,000
Al 7,500
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Al 1,047,021
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Al 764,621
T 377,694
NEEBZ22 54012 N A (509)
400,000,000& 400,000
Al 280,000
T 120,000
201 et 3,429 3,550 A121
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T 1,029
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4)F Lo E2E M 2,000,000& 2,000
DESAGA BB R
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A R =PRIy =g =g,
3 NSFH gds

el 4018 |4 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 101,550
T 5,840
01 At 22l 48,550 0 48,550
112l ZHO0tHI0I 2 (Al =00l &) 29,550
)82 ZA=E 50,0003 *40Al 2+ *33| x3Y 18,000
Al 18,000
2)BX2UANE 25,0003 *40A| 2t +33] *3H 9,000
Al 9,000
2) 1 i Hl 5,000& *33| x30% 450
Al 450
2)28 #¢ 1,638,000& 1,638
Al 1,638
2)2cHIHE M E 77,0002 64 462
Al 462
NESHAEY HE 2 (AZ 00 &) 13,000
2)HAEIY EOLS AAIY
50,0003 159 x4 3] 3,000
Al 3,000
2)HA EES ME 5,000,000& 5,000
Al 5,000
2INAE A M 3,000,000& 3,000
Al 3,000
2)88 7¢ 2,000,000& 2,000
Al 2,000
1) Bt =] 6,000
2)DEEL MREE FUM(AECHMA)
1,500, 000& 1,500
Al 1,500
2)30Z el g 2FARHI (Al EHOF Off &F)
150,000& *10h*33] x1H 4,500
Al 4,500
02 23224l 5,840 0 5,840
N3323 5,840
)40t & 130,000& 6 & 780
2)80 2 230,000& x12& 2,760
)T AIIAZ 440,000 53 2,200
2)8stx HAH 100,000& * 13| 100
03 #AL2 I 53,000 0 53,000
DNESHAEY JHE (AEO A 53,000
2)FHATUE, MEBHA, HHHZ S =
3,000,000 53,000
Al 53,000
203 H R =&l 1,950 0 1,950
Al 1,950

03 Al =8 YR =& 1,950 0 1,950
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1,500, 000& 1,500
Al 1,500
301 et d = 26,500 0 26,500
Al 26,500
NJIEEd=s 26,500 0 26,500
NEEITUE (AZ A 20,000
2) & 5,000,000 =1 5,000
Al 5,000
)24 3,000,000& »2&H 6,000
Al 6,000
)= 2,000,000& »2H 4,000
Al 4,000
2)ci 4 1,000,000& =5 5,000
Al 5,000
1)30 ZEle &8 AMES ZAUHS (AZFAHA) 6,500
2)0H & 2,000,000& =1 2,000
Al 2,000
)3 R4 1,000, 000& »2H 2,000
Al 2,000
)4 500,000& x5S 2,500
Al 2,500
Es2t s 84 26,582 12,408 14,174
Al 5,000
- 21,582
14.01=220 O/d2X =+ 16,582 0 16,582
201 €24l 800 0 800
02 =224l 800 0 800
NOIZ2U OIMEXN 82 M= 800,000& 800
401 Al HIZ 2018 15,782 0 15,782
01 A& HI 15,782 0 15,782
N0IZ2U OIEEX S 2AM 14,682,000& 14,682
NXGt=AE BHIBA 1,100,000& 1,100
B ANRY ESAL(AMEERE) 10,000 8,400 1,600
Al 5,000
- 5,000
206 M= Hl 10,000 8,400 1,600
Al 5,000
- 5,000
01 M= 4l 10,000 8,400 1,600
NI HE| 40,000 2504 10,000
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Ss&a 18,244 1,568 16,676
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201 et | 840 798 42
01 AFR 2t 2| H| 840 798 42
N2g4e 840
2Q)SIIN AL EHALG
70,000& *6H *23| 840
17. HEZEE AN 22| 7,404 770 6,634
101 Q124 H] 4,864 0 4,864
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2)ele el 44 B40R 20 x4H 3,572
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HSAE 435 X3 2,299,988 72,431 2,227,557
= 1,317,000
Al 526,800
- 456,188
19. 8 EANZ E43(Z2DEX) 2,299,988 72,431 2,227,557
= 1,317,000
Al 526,800
- 456,188
201 LBt ]| 62,188 8,931 53,257
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Negag 980
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D28t 525 SHYEAT VEI(R B0
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2)HAEIY &AL EE2 M 3,000,000& 3,000
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NESANE 24835 2FA 150,000& = 12& 1,800
207 &R 2l 20,000 0 20,000
01 A EAHI 20,000 0 20,000
NEEAE 2 &4FI 243 d2EY
20,000,000& 20,000
307 glz2tol & 20,000 0 20,000
02 LIt MAMHEE 20,000 0 20,000
NESANE H3EES =4 20,000,000& 20,000
401 Al HI L 2 THYI 2,195,000 62,000 2,133,000
= 1,317,000
Al 526,800
T 351,200
01 A& HI 2,195,000 62,000 2,133,000
NESANE DHTAMH A
2,195,000, 000& 2,195,000
= 1,317,000
Al 526,800
- 351,200
HY2IZH (LRSS 2) 5,473 3,668 1,805
2 (LRABML Y2 5,473 3,668 1,805
20,0123l (LRl rMeg) 5,473 3,668 1,805
201 LBH2E| 1,273 1,028 245
01 At 22l 1,273 1,028 245
et =Y 1,273
2)J12 AR EE 10,000& »25H 250
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